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Interactive Question

Two balls are thrown straight up. The first is thrown with
twice the initial speed of the second. Ignore air
resistance. How much higher will the first ball Em%

A) V2 times as high. "k
| Vo = Vo2
B) Twice as high. _\o R +o.~ a0y
C) Three times as high. %
- . 0= Vs ..%M ¢
D) Four times as high. A7
E) Eight times as high w /

T
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Interactive A.OcmeOD

Two rocks are dropped into tWo different deep éwzm The
tirst one takes three times as Mosm to hit bottom as the
second one. Ignore air resistance. How much Qmm@ﬂ 1S

the first well than the second? a=-9 v=o
.ﬁ-s “U.ﬁ.n‘
A) V3 times as deep.. - o m.uw\v ot +Fat’

B) Three times as deep. |

C) Four and a half times as deep..
D) Six times as deep. .
E) Nine times as deep. rARY R




588095 _O:ommc:_

Ball A is dropped from the 8@ 0m a building. O:@ mmoocm
later, ball B is dropped from 9@ same UEEEm .
Neglecting air resistance, as :Bw progresses E@
difference 1n their speeds |

A) 1ncreases.

B) remains constant.

C) decreases.

D) depends on the size of 9@ g:m



58822@ Ocmmco:

Ball A is dropped from the 8@ of a _UEEEm Q:o mmoosm
later, ball B is dropped from the same building.

Z@m_@oﬁsm&:mmag:owmm :B@ Eomammm@m 9@ &SBsmm
between them o |

A) increases.

B) remains constant.

C) decreases.

D) depends on the size of 9@ g:m
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An object is dropped from a UEEE@
What graph cescribes its motion




Consider the plot of x vs ¢ m._
the right, at which point( mv 1s
the motion fastest? o

A) A
B)B
C)C
D)D
E)E



~ Consider the plot of x vstat

- the ri mwn at which @oERmv 18
the object turning around?

A) A
B)B
- oc
 BE




 the EQE at which wo:imv 1S

, .Oaumaﬂ. the plot of x Vs w.md

 the oEmQ rioving at a constan.
| NON-zero. ve _OSQQ |

 A)Aand C

~ B)A, ..O.&Q.U
- OC @Ev\
UVQOE%
 E)BandD



* Consider the plot of x vs fat
~ the EmE at which wo:imv Hm |

~ the ogooﬂ Eoﬁbm in the -
:ommgo X direction?
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An object is 40 |
moving along a 307
straight line. The .
graph at theright 7" | B| Q.
shows its positior Ho.wl
from the starting A
point as a funciion 0 1 2 3 .p 5 m
of time. (s oosafv

.._..m. A

In what section of the Qmwr aomm ﬁrm @u_mi :m/% 9@
fastest speed? o |

>v>w Q@@_._m;@&no.
B) BC oyor



An object is Noa.
moving along a mwum
straight line. The 3
graph at the risht >
shows its velocity | /| R
as a function of Q_o. 1 2 3 4 5 6
time. P Am@oosamv .,
During which interval(s) Om Sm mﬁ%w does Em o_&@oﬁ _
travel equal distarces - a 3&& times?

A)Oto2s D)0 vwmmsawmg

B)2sto3s m/cfwm wmﬂomm &amm__omm
meSMm



o .@o::rm starting >R-

Anobject is 40}

movingalonza 30
- straightline. The 2 5
~ graph at the - EE (x\
- shows its position

~ poiatas n?pgon 0 L 2 3 456
- oftime. t (seconds)

- What was the Emgsﬂm:@ocm selocity of the object

.m: t = h mroo&,mo

A H0ms  O+0wk  E)+40 mis
B)+8010/s D)+ 3.3 s



Consider the plot of x v ¢ at
the right, at which point’s) is

the motion slowest"

A) A

B)B

C)D

D) E o |

E) More than ore of th: above answers




